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’ 100kN/m#%#82x%| 1.00( 0.00 ~ 127 119.19 |3mZHBZ 3% - ~ — — —| 100kN/m%#E%%| 1.00 [10.85 ~ 1549 119.19 |3mZHBZ 3% -~ — — —
ZznLst 1.00 | 1.27 ~ 9.05 100.00 | #hist | 000 ~ 9.05| 2.25 12.04 ZznLst 1.00 | 5.00 ~ 10.85 100.00 | Zhist | 500 ~ 1549 | 2.25 12.04
9 100kN/m#%#82x%| 1.00( 0.00 ~ 1.69 12583 |3mZHB %% - ~ — — —| 100kN/m%#E%%| 1.00 [10.53 ~ 16.35 12583 |3mZHB %3 -~ — — —
ZznLst 1.00 | 1.69 ~ 947 100.00 | Zhist | 000 ~ 947 | 239 12.81 ZznLst 1.00 | 500 ~ 10.53 100.00 | Zhist | 500 ~ 16.35 | 2.39 12.81
3 100kN/m#%#82x%| 1.00| 0.00 ~ 054 107.96 |3mZHEZ 3% - ~ — — —| 100kN/m%#E%%| 1.00 [10.72 ~ 12.20 107.96 |3m%EHBZ 3% -~ — — —
ZznLst 1.00 | 054 ~ 832 100.00 | #hist | 000 ~ 832 229 12.24 ZznLst 1.00 | 5.00 ~ 10.72 100.00 | Zhist | 500 ~ 1220 | 2.29 12.24
A 100kN/m#EH#BZ % — -~ — —|3m%EEZD - ~ — — — | 100kN/m%#EZ % - -~ — —|3mZEEZD -~ - — —
ZznLst 1.00 | 0.00 ~ 6.07 76.10 | 1kl | 000 ~ 6.07 | 2.05 10.99 ZznLst 1.00| 500 ~ 8.36 76.10 | #nlist | 5.00 ~ 836 | 2.05 10.99
5 100kN/m%E#BZ % — -~ — —|3m%EEZD - ~ — — — | 100kN/m%#EZ % - -~ — —|3mZEEZD -~ - — —
ZznLst 1.00 | 0.00 ~ 459 5718 | #nkist | 000 ~ 459 | 1.88 10.08 ZznLst 1.00 | 500 ~ 5.00 5718 | #nki4t | 500 ~ 500 | 1.88 10.08
100kN/m%EH#BZ % ~ ImEEZD ~ 100kN/m#EH#BZ % ~ ImEBZD ~
Zhs ~ FhLsn ~ ZhLs ~ FhLs ~
100kN/m%EH#BZ % ~ ImEEZD ~ 100kN/m#EH#BZ % ~ ImEBZD ~
ZhLs ~ ZFh s ~ Zhs ~ FhLsn ~
100kN/m%EH#BZ % ~ ImEEZD ~ 100kN/m#EH#BZ % ~ ImEBZD ~
ZhLs ~ FhLsn ~ Zhs ~ FhLsn ~
100kN/m%EH#BZ % ~ ImEHEZD ~ 100kN/m#EH#BZ % ~ ImEBZD ~
ZhLs ~ FhLsn ~ ZhLs ~ FhLsn ~
100kN/m%EH#BZ % ~ ImEHEZD ~ 100kN/m#EH#BZ % ~ ImEBZD ~
Zhs ~ FhLsn ~ Zhs ~ ZFhLsn ~
100kN/mEH#BZ % ~ ImEHEZD ~ 100kN/mEH#BZ % ~ ImEBZD ~
Zhs ~ FhLsn ~ Zhs ~ FhLsn ~
100kN/mEH#BZ % ~ ImEHEZD ~ 100kN/m#EH#BZ % ~ ImEBZD ~
Zhs ~ FhLsn ~ Zhs ~ FhLsn ~
100kN/mEH#BZ % ~ ImEHEZD ~ 100kN/m#EH#BZ % ~ ImEBZD ~
Zhs ~ FhLsn ~ Zhs ~ FhLsn ~
100kN/m%EH#BZ % ~ ImEHEZD ~ 100kN/m#EH#BZ % ~ ImEBZD ~
Zhs ~ FhLsn ~ Zhs ~ FhLsn ~
100kN/m%EH#BZ % ~ ImEEZD ~ 100kN/m#EH#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh s ~
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